Exercise 1.6

) 7.32%
(c) 6.11%
(d) 31.8%

. (@6 (b)4 (c) -3
(d)6 (e) 0
. (a) 12500 b) 3080

00000 (d) 0.0421

(e) 000972  (f) 0.00000838

6.21x10* (b) 2.1x10°
(c) 9.84x107 (d) 5.2x 10"

. (a) 7.27x 107" (b) 3.19x 107
(c) 2.57 %107 (d) 4.08 x10™"

\(a) 398 x 10, 012 103,
9%70.02 x 10°
X 103, 1.7 x 10%,
3.70 x 10%, 2 x 10°
c) 3.8x107%, 24 %1073,
2% 10% 1.2 x10% 1.7 x 103,
3.98 x 103 3.70 x 10*

. (a) 3.17x10" (b) 9.89x 107
(c) 456 x107° (d) 1.54%x10°
(e) 8.12x 10" (f) 3.44x 107

10> (b) 3.90 x 10°
2.65x10° (d) 5.74x10°

. (a) 33min
(b) 12min
(c) 79min

9. 1270 times (to 3 s.f.)
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(a) 395s

(b) 9min 225

(c) 3d6h

(d) 1h48min 20s
(e) 17595 min

(f) 22030s
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City Miami | Riga | Milan |Bahrain| Lima Perth Moscow
| [Celsius (°C) , | 2781 2 | 77 183 | 357322 | -12
Fahrenheit(°F)| 82 |28.4 | 446 65 77 | 90 10.4
Exercise 1.10 Mixed examination
1. (a) 38kmh-" practice 1
(b) 7.19h Exam-style questions 1
(c) 29.3km
1.
2. (a) 2.625 - J|3 e 11
(b) 2.64kmh; faster 11 Jl_l
N | v
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1. (a) 3.5m (b) 2760mm Z T v
(c) 4.8km 35200cm 2
2; 2.
-
(d) 1000000mg
3. (a) 45000cm? R g
(b) 0.0685m
4. (a) 1.2x10°cm?
b) 0.024m?
EC)) 1300n1?m3 3. (a) 2, natural number
(d) 5x10° (b) 4% = 4.8, rational number f g
5. (a) 791 3950ml (c) 2, natural number
(c) 83300cm’ (d) 687 cm’ (d) 42.7256... , irrational
; 5 number e o
6 () 83) ;(3:])100cm (e) 10, natural number ’ ;,
(b) (i) 821 x 10°cm’ ® _BIZ’Imteger a,;‘
1)~ (g) ——, rational number t}:
(¢) 33.1cn1? 3 i
(h) —4, integer 3
7. (a) 38 (b) Y6cm
%. (a) 40.0cm? (b) 8.4cm?
8. (c) 6.4m
9. (a) 53 (b) 20&m* 5. (a) R=20,r=10,1=3 (1 s.f)
10. (a)%‘jb'ml—/(‘b){().él m? (b) A =500
(c) 788
G. (1) 2.7
(D 2.6
v3 \’;’f”* 7 . ‘
i ;«f % ] p §
g e ~
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